
111S2C Self-Priming Centrifugal Pump UT-01532-C 01532-C-UT 111S2C Self-Priming Centrifugal Pump UT-01532-
C 111S2C Self-Priming Centrifugal Pump - Pump

1 of 2 3/11/2025, 2:43 PM



Ref # Part # Description Qty Context Note MSRP

1 3.5 HP I/P ENGINE 1

2 76885A SLINGER 1

3 80088 HEX HD SCREW (5/16-18 X 1.25) 4
Torque Specs. 130-145 In/Lbs,

14.7-16.4 Nm

4 83002 LOCK WASHER (5/16) 4 2.06

5 629872A IMPELLER HOUSING 1

6 62874 SEALING WASHER 4

7 80927 HEX HD SCREW (5/16-24 X 2.25) 4
Torque Specs. 130-145 In/Lbs,

14.7-16.4 Nm

8 628612 SEAL ASSEMBLY 1 81.53

9 62882A SEAL SHIM .010"
A/
R

As Required

62883A SEAL SHIM .015"
A/
R

As Required

10 84056 FLAT WASHER (5/16) 1

11 62872 IMPELLER SHIM .010"
A/
R

As Required 1.99

62873 IMPELLER SHIM .015"
A/
R

As Required 2.43

12 629883 IMPELLER 1

13 54070A O-RING 2

14 540661A WEAR PLATE 1

15 54069 SMALL GASKET 1

16 A43971 FILLER PLUG 1 7.96

17 18108 FILLER PLUG GASKET 1

18 A09131 END HOUSING 1

19 756631
SUCTION NIPPLE 2" NPT X 2"

LONG
1

20 541511
DISCHARGE NIPPLE 2" NPT X 3

1/2" LONG
1

08970 DECAL, FILL PUMP 1

08971 DECAL, WARNING 1

21 A43896 USE UP07092 1

22 59910 GASKET 1

23 624501 WRENCH HOLDER 1

24 19189B SPANNER WRENCH 1

25 30128 2" SUCTION STRAINER 1

2 of 2 3/11/2025, 2:43 PM



111S2C Self-Priming Centrifugal Pump UT-01532-C 01532-C-UT 111S2C Self-Priming Centrifugal Pump
UT-01532-C 111S2C Self-Priming Centrifugal Pump - Frame

1 of 2 3/11/2025, 2:43 PM



Ref # Part # Description Qty Context Note MSRP

1 80088
HEX HD SCREW (5/16-18 X

1.25)
4

Torque Specs. 130-145 In/Lbs,
14.7-16.4 Nm

2 83002 LOCK WASHER (5/16) 15 2.06

3 A08096 2" SERIES ROLL CAGE 1

4 08101 ENGINE SUPPORT 1

5 08102 PUMP SUPPORT 2 10.62

6 49733 FOOT SPACER 4

7 48789 RUBBER FOOT 4 11.91

8 84032 FLAT WASHER (5/16) 12 1.81

9 80083
HEX HD SCREW (5/16-18 X

.75)
7

Torque Specs. 205-225 In/Lbs,
23.2-25.4 Nm

10 80087
HEX HD SCREW (5/16-18 X

1.50)
4

Torque Specs. 205-225 In/Lbs,
23.2-25.4 Nm

11 81162 HEX NUT (5/16-18) 13 0.83

2 of 2 3/11/2025, 2:43 PM


	111S2C-(UT-01532-C)-Homelite-PB.pdf
	111S2C-(UT-01532-C)-Homelite-PB-1.pdf

